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(A) 1 £ X + & + "% %#c(Reduction Factor) = ?
(A) index units. (B)total moments. (C) CG from LEMAC.

o 4e%855:0011396 420 ¥ R %
(C ) 2 Aerodynamic chord z. % % 3 ®?
(Mratio of the average wing chord to its aerodynamic center of pressure. (B)
distance from the leading edge to the trailing edge of the wing, measured at
the wing root. (C) chord of an imaginary airfoil which has the same aerodynamic
characteristics as the actual airfoil.

B b B8%550:0011397 4220 % 2 %
(B ) 3 W HFCGMimfA= ;N kA7 L ajp =y ?
(A) inches from the forward CG limit. (B)percent of mean aerodynamic chord aft
of LEMAC. (C)percentage of MAC aft of the leading edge of the wing.

B b B8%550:0011398 2220 5 2 %
(C ) 4 CGEM BIPeTwRBahi 547
(A) lateral axis. (B)vertical axis. (C)longitudinal axis.

B b B28550:0011399 2220 5 2 %
(C) b fedeZrEmE e wder B, RICGE & 7 jadt 27
(MDwts (B)2 % (O
B b 285:0011400 2222 :0 3% R %
(B ) 6 HeCihrim 2?
(Mmultiplying total arms by total weight. (B)dividing total moments by total
weight. (C)multiplying total weight by total moments.

f4e82%0:0011401 2520 2% B %
(B ) 7 Taxi weight %3*t?
(A)Payload plus operating weight. (B) Zero fuel weight plus total fuel load.
(C)Zero fuel weight plus payload, fuel, and oil.

Fhed250:0011402 2220 35 2 %
(C ) 8 The basic operating weight % *t&uf$ch empty weight+e @'ﬁ?
(A)fuel and oil. (B) required crew. (C)required crew and standard operating
1tems.

B b 82%55:0011403 2222 .0 % B %
(A ) 9 Zero fuel weight #ha & 57
(A) basic operating weight plus payload. (B) empty weight plus passengers and
cargo. (C)takeoff weight minus fuel to destination and alternate.

B4 A2 50:0011404 2ge:0 5% 20 5



( ¢ ) 10 The maximum allowable airplane weight #*# useable fuel $57?
(A) basic operating weight. (B) maximum payload weight. (C)maximum zero fuel
weight.

4o 88%.:0011405 %22 :0 % B 7
(B ) 1l &g &F| T Aeid DR ERAE?
(AM)For fire fighting (B)Reduce the bending moment of the wing (C)Prevent tail
down during refueling

B e %8%:0011406 4520 % B 5
( A ) 12 Operating weight# 457
(A)DOW + TOF (B)DOW + Trip fuel (C)ZFW + TOF

4o 88%.:0011407 %220 ¥ % B %
(C ) 13 TOW 2 Trip fuel 57
(A)DOW (B)ZFW (C)Landing weight

F4ek855:0011408 482:0 3% B %
(B ) 14 DOW 4c}+ Payload 5?
(A)OW (B)ZFW (C)Landing weight

b 85:0011409 22220 3% & %
(B ) 15 Landing weight %3t ?
(AMZFW + Trip fuel (B)TOW- Trip fuel (C)DOW + Trip fuel

B b 3285:0011410 42220 3% R %
(C ) 16 ZFW 4c+ TOF & t?
(A)DOW (B)Landing weight (C)TOW

4o k855:0011411 4220 $p % B¢
(B ) 1T TOW & 37
(A)ZFW + Trip fuel (B)DOW + Payload + TOF (C)DOW + Trip fuel

B 4e48%50:0011412 4520 3% & . %
(B ) 18 Payload# & 3&7
DFz B)E (OF 4
B 4-48%50:0011413 4820 3% & . %

(A ) 19 TOW %2
(A)Landing Weight + Trip fuel (B)ZFW + Trip fuel (C)DOW + TOF

B4 RE8:0011414 2220 3% B %
(B ) 20 TOW 2 ZFW = ?
(A)Trip Fuel (B)TOF (C)DOW

B b 8%5:0011415 4220 3% B %
(B2l mRehE TR H 57
(A)Payload (B)DOW (C)Landing weight

B4e4250:0011416 250 2% & %



(B ) 22 3+ % Landing Weight : OW=2600kg ZFW=3200kg TOF=800kg Trip Fuel= 500kg
(A)4000kg (B)3500kg (C)3700kg

B4 RE2%0: 0011417 A0 5% & 5
(C ) 23 3% TOW: OW=4000kg ZFW=4200kg TOF=800kg
(A)1000kg (B)3000kg (C)5000kg

B4e4250:0011418 A0 2% & %
(C ) 24 3% Landing Weight : OW=3600kg ZFW=4200kg TOF=1000kg Trip Fuel= 600kg
(A)4900kg (B)4800kg (C)4600kg

F4e42%0:0011419 A 2.0 2% B %
(B ) 25 3% Payload : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A)900kg (B)1100kg (C)1000kg

B4 A2 50:0011420 g0 ¥ % &0 5
(B ) 26 3% DOW : OW=3000kg ZFW=3200kg TOF=800kg
(A)2000kg (B)2200kg (C)2100kg

B 4-3850:0011421 4220 2% R .7
(C ) 21 3% TOW : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A)4700kg (B)5100kg (C)4900kg

Fhed25:0011422 220 $p% 2 %
(B ) 28 3% Landing Weight, TOW = 3600kg ZFW = 2400kg Trip fuel= 800
(A)3200kg (B)2800kg (C)2600kg

B 4-3850:0011423 4220 2% R .7
(A ) 29 3% Payload , DOW 2 TOW: OW=3000kg ZFW=3200kg TOF=800kg
(A)Payload= 1000kg DOW= 2200 TOW= 4000kg (B)Payload= 800kg DOW= 2200 TOW=
3800kg (C)Payload= 1000kg DOW= 2200 TOW= 3800kg

4o %855:0011424 4220 ¥ s R 7
(B ) 30 3% Landing Weight , Payload % TOW : OW=3600kg ZFW=4200kg TOF=1000kg Trip
Fuel= 600kg
(A) Landing Weight= 4600kg Payload= 1100kg TOW=4800kg (B) Landing Weight=
4600kg Payload= 1600kg TOW=5200kg (C) Landing Weight= 4400kg Payload=
1100kg TOW=5200kg

B2 50:0011425 g0 s &0
(A ) 31 3% Payload , DOW % TOW: OW=4000kg ZFW=4200kg TOF=800kg
(A)Payload= 1000kg DOW= 3200 TOW= 5000kg (B)Payload= 800kg DOW= 3200 TOW=
4800kg (C)Payload= 1000kg DOW= 3000 TOW= 5000kg

B b 855:0011426 4220 ¥ 5 & 7
(C ) 32 3% Landing Weight, Payload 2 TOW : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel=
500kg
(A) Landing Weight= 4400kg Payload= 1100kg TOW=4800kg (B) Landing Weight=
4200kg Payload= 1100kg TOW=4900kg (C) Landing Weight= 4400kg Payload=
1100kg TOW=4900kg



4o R8%.:0011427 %520 ¥p% B %
(B ) 33 3% Landing Weight : OW=3600kg ZFW=4200kg TOF=1000kg Trip Fuel= 600kg
(A)4800kg (B)4600kg (C)5000kg

4o B8%.:0011428 %5 %:0 5 B 7
(A ) 34 335 Payload : OW=4000kg ZFW=4200kg TOF=800kg
(A)1000kg (B)1200kg (C)800kg

B2 50:0011429 250 2% & 5
(B ) 3 3% TOF, TOW = 3600kg ZFW = 2400kg Trip fuel= 800
(A)1000kg (B)1200kg (C)800kg

e A850:0011395 4500 2% R0 5
(A ) 36 Weight X Arm + the Reduction Factor is the formula used to determine ?
(A) index units. (B)total moments. (C) CG from LEMAC.

o 4e%8%55:0011396 4220 ¥ % R %
(¢ ) 37 The term mean aerodynamic chord may be defined as the ?
(Mratio of the average wing chord to its aerodynamic center of pressure. (B)
distance from the leading edge to the trailing edge of the wing, measured at
the wing root. (C) chord of an imaginary airfoil which has the same aerodynamic
characteristics as the actual airfoil.

4o 82%0:0011397 A0 2% B %
( B ) 38 The CG of an airplane is normally located in the fuselage at a point expressed
in ?
(A) inches from the forward CG limit. (B)percent of mean aerodynamic chord aft
of LEMAC. (C)percentage of MAC aft of the leading edge of the wing.

F4o82%.:0011398 A5 :0 2% B %
(C ) 39 The CG of an airplane is computed along the?
(A) lateral axis. (B)vertical axis. (C)longitudinal axis.

448 50:0011399 250 % B 4
( ¢ ) 40 If the nosewheel of an airplane moves forward upon gear retraction, the CG will?
(A) move aft. (B) not move. (C)move forward.

B4 A2 50:0011400 20 5% 20 5
(B ) 41 The CG of an airplane can be determined by ?

(Mmultiplying total arms by total weight. (B)dividing total moments by total
weight. (C)multiplying total weight by total moments.

Fhed250:0011401 2220 % 2 %
( B ) 42 Which of the following weight factors determine ramp or taxi weight?
(A)Payload plus operating weight. (B) Zero fuel weight plus total fuel load.
(C)Zero fuel weight plus payload, fuel, and oil.

B4 A2 50:0011402 2ge:0 5% 20 5



( ¢ ) 43 The basic operating weight of a transport airplane is the empty weight plus
(A)fuel and oil. (B) required crew. (C)required crew and standard operating
1tems.

o 4e%855:0011403 f22:0 #p % R %
(A ) 44 Zero fuel weight is defined as the
(A) basic operating weight plus payload. (B) empty weight plus passengers and
cargo. (C)takeoff weight minus fuel to destination and alternate.

4o 88%.:0011404 %520 $p% B %
(¢ ) 45 The maximum allowable airplane weight excluding useable fuel is called
(A) basic operating weight. (B) maximum payload weight. (C)maximum zero fuel
weight.

F4o82%.:0011405 s 2.0 2% B 7
( B ) 46 For what reason there is a standard procedure for fuel loading?
(AM)For fire fighting (B)Reduce the bending moment of the wing (C)Prevent tail
down during refueling

Fe%250:0011406 2220 % B %
( A ) 47 Operating weight equal to ?
(A)DOW + TOF (B)DOW + Trip fuel (C)ZFW + TOF

B b 3285:0011407 22220 325 R 2
(c ) 48 TOW - Trip fuel = ?
(A)DOW (B)ZFW (C)Landing weight

B b 285:0011408 2222 :0 3% R %
(B ) 49 DOW + Payload =?
(A)OW (B)ZFW (C)Landing weight

B4 %855:0011409 422 :0 ¥4 R %
(B ) 50 The Landing weight equal to ?
(A)ZFW + Trip fuel (B)TOW- Trip fuel (C)DOW + Trip fuel

B b B285:0011410 42220 2% A2 %
(Cc ) 51 ZFW + TOF =?
(A)DOW (B)Landing weight (C)TOW

F4e-350:0011411 420 2% A7

(B ) 52 TOW includes ?
(AZFW + Trip fuel (B)DOW + Payload + TOF (C)DOW + Trip fuel

B b 255:0011412 4220 3% B %
( B ) 53 Payload not includes?
(A)Passenger (B)Fuel (C)Cargo
b k855:0011413 482:0 ¥ B %

(A ) 54 TOW equal to?
(A)Landing Weight + Trip fuel (B)ZFW + Trip fuel (C)DOW + TOF

5



b 8255:0011414 2220 3% B %
(B ) 5 TOW - ZFW = ?
(A)Trip Fuel (B)TOF (C)DOW

4o 88%.:00114150 %820 % B : %
(B ) 56 The weight of crews shoul be caculated as?
(A)Payload (B)DOW (C)Landing weight

4o 88%.:0011416 %820 % B : %
( B ) 57 Caculate the Landing Weight : OW=2600kg ZFW=3200kg TOF=800kg Trip Fuel= 500kg
(A)4000kg (B)3500kg (C)3700kg

4o d8%0:0011417 %820 $p% B : %
(¢ ) 58 Caculate the TOW : OW=4000kg ZFW=4200kg TOF=800kg
(A)1000kg (B)3000kg (C)5000kg

e 38550:0011418 25w :0 #p% B %
( ¢ ) 59 Caculate the Landing Weight : OW=3600kg ZFW=4200kg TOF=1000kg Trip Fuel= 600kg
(A)4900kg (B)4800kg (C)4600kg

Fhe4855:0011419 42 2:0 ¥ % R %
(B ) 60 Caculate the Payload : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A) Landing Weight= 4400kg Payload= 1100kg TOW=4800kg (B) Landing Weight=
4200kg  Payload= 1100kg TOW=4900kg (C) Landing Weight= 4400kg Payload=
1100kg TOW=4900kg

4o B850:0011420 %58 2:0 3% B %
(B ) 61 Caculate the DOW : OW=3000kg ZFW=3200kg TOF=800kg
(A)2000kg (B)2200kg (C)2100kg

B4e4250:0011421 g0 2k &0 ¢
( ¢ ) 62 Caculate the TOW : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A)4700kg (B)5100kg (C)4900kg

R4o88%50:0011422 2520 ¥gp% B %
( B ) 63 Caculate the Landing Weight, TOW = 3600kg ZFW = 2400kg Trip fuel= 800
(A)3200kg (B)2800kg (C)2600kg

B 4-3850:0011423 40 2% &7
( A ) 64 Caculate the Payload , DOW and TOW: OW=3000kg ZFW=3200kg TOF=800kg

(A)Payload= 1000kg DOW= 2200 TOW= 4000kg (B)Payload= 800kg DOW= 2200 TOW=
3800kg (C)Payload= 1000kg DOW= 2200 TOW= 3800kg

B4e4250:0011424 g0 s &0



( B ) 65 Caculate the Landing Weight , Payload and TOW : OW=3600kg ZFW=4200kg TOF=1000kg
Trip Fuel= 600kg
(A) Landing Weight= 4600kg Payload= 1100kg TOW=4800kg (B) Landing Weight=
4600kg Payload= 1600kg TOW=5200kg (C) Landing Weight= 4400kg Payload=
1100kg TOW=5200kg

Fhed85:0011420 %50 5 B¢
( A ) 66 Caculate the Payload , DOW and TOW : OW=4000kg ZFW=4200kg TOF=800kg
(A)Payload= 1000kg DOW= 3200 TOW= 5000kg (B)Payload= 800kg DOW= 3200 TOW=
4800kg (C)Payload= 1000kg DOW= 3000 TOW= 5000kg

B 4-3850:0011426 4220 2% R .7

( ¢ ) 67 Caculate the Landing Weight , Payload and TOW : OW=3800kg ZFW=4200kg TOF=700kg
Trip Fuel= 500kg
(A) Landing Weight= 4400kg Payload= 1100kg TOW=4800kg (B) Landing Weight=
4200kg  Payload= 1100kg TOW=4900kg (C) Landing Weight= 4400kg Payload=
1100kg TOW=4900kg

4o B8%0:0011427 A5 w0 2% B %
(B ) 68 Caculate the Landing Weight : OW=3600kg ZFW=4200kg TOF=1000kg Trip Fuel= 600kg
(A)4800kg (B)4600kg (C)5000kg

B 4-3850:0011428 420 2% R .7

( A ) 69 Caculate the Payload : OW=4000kg ZFW=4200kg TOF=800kg
(A)1000kg (B)1200kg (C)800kg

4o B8%0:0011429 %5 2:0 3% B %
(B ) 70 Caculate the TOF, TOW = 3600kg ZFW = 2400kg Trip fuel= 800
(A)1000kg (B)1200kg (C)800kg



